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ALGEBRA STRANDS as stated in the document ....

Note from the author:

About this resource ...
Number Knowledge Student Workbook - Book 7
(Code: NKH7)

is one of a series of 8 resources written to support the NUMERACY PROJECT currently
being implemented within many New Zealand schools. Within each resource in this
series, the NUMBER KNOWLEDGE FACTS are systematically and methodically
introduced, providing students with the 'building blocks' required to progress through the
various NUMBER STRATEGY STAGES.

These resources have been compiled using the Achievement ObjectivesfrAwhe appropriate NUMBER and

Mathematics in the New Zeal u
and information from the various re e..

Numeracy Professional erment Proj%

... iInvolving the Strategy St listed below.
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Note to Students:

| am sure you would love not to have to do homework. However, we will only get better at many things we do or
learn, if we practise. | am sure you have heard the old saying ‘practice makes perfect'.

In class you are shown and taught lots of new ideas. The reason for doing your homework is to practise what you
have been taught in class. If you can do it on your own at home, or maybe with a little help from someone at home,
then it shows you have remembered what you were shown in class.

Practise
Understanding

J "wq,

Confidence ~
No-one can make you learn. Your teachers, parents / caregiver

"o\

d frignds can help, but gkthe e the day it's up
to you. You do not have to always get it right, as long as you havi 0 do the very be an. Remembgg to ask
for help if you do not understand or if you are not sure of ou have to do.

This resource has been written to help make d.oing work easier.for 0 d your teacher.

ood hick N\ \ <
7SR

Note to Parents / Caregivers:
You may not have found mathemat or do you haveto o@d at it. All you have
to do is encourage your so o do the ver can. We canno rom our children, than
they are able to give. Tr b&dealistic with your own ectations of how well ey should be doing at
school. ‘

0 many distractions. Background music is

To help yo hter, here are some i b
rovide a plac t work quietly wit
okay, but televis 00 distracting becau&e tures.
Provide giiem with t quipment th
R mber they d®ne meYime off to enjoy themselves, so do not expect them to
e time.
Our children need our support \agement if they are to do well. If your son / daughter is having a lot of
trouble understanding the work, ay be a good idea to contact their teacher to talk about the best way you can help.

|

=

orfflout when is the bggRtiri@to to their homework, encouraging them to establish
: »
em plenty gfenco ement dand praise. Look at their work and sign each page when
ompleted.

Good luck.
Successful learning requires teamwork.
/ Child \
Care-giver =P Teacher
AWS
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How to use this resource - Book 7

The purpose of this resource is for students to either develop or revise the
numeracy facts learnt in previous years and utilize these facts quickly and
accurately to solve a range of problems.

There are 40 activity sheets in this resource. The worksheets are divided into 2
groups of 20 and gradually get more difficult. Below is a summary of what is
contained within each group of worksheets.

The information below has been included so that parents / care-givers can understand what is the aim of each activity,

therefore are able to help.

Worksheets 1 to 20

Worksheet
Activity

Teaching ldeas

A

In this activity, pupils are to determine how a sequence S created

sequence and describe how it was created.
Example: 2, _,_,8,10,__,__, 16,

ngat 2, skip coun

B

ar| hmbc skills as they
in 2's, 3's, 4's,@s, 6's,

In this activity, pupils improve their recall of bergand develop me
write the numbers that come before and after number skip co

7's, 8's, 9's or 10's. Q
i umbers to 36 n 00 or 1000 as

In this activity, pupils are @ ro

Questions 1 to 8 invol
appropriate subtractigs c

strategies when s
Example: 4 591, 895 - 79 4 + 359 = 893, % =375
Questio e word probl addlng and subtr he skills learnt in
prev
@ to 13,1, 2an bers are added &\volvmg carrying. Two of the
n re multiples of ence developing 0 strategy.
ple: 60 +5 46 2+ 200+ {
uestions 14 & Iv ding using th 0%
Example +5+180+43 =50

i uestions 1 to 8 revi iplication facts for 2's, 3's, 4's, 5's, 6's, 7's, 8's, 9's
ple: 2x6 = 12 5, 7x10= 70, etc.
to 12, the mu %ts have been rearranged to allow pupils to develop
strategies whe mple: 6x2=12,10x3 =30
ion 13 is a d pro in oIvmg multiplication.
uestions 14 t v\seth division facts for 2's, 3's, 4's, 5's, 6's, 7's, 8's, 9's and 10's.
Example: +2 +5=5, 80+10=38, etc.

For questi , the division facts have been rearranged to allow pupils to develop alternative
strategies ing. Example: 12+2=6, 25+5=5, etc.

In question 267 pupils are to shade in a fraction of the shape.

In question 27, pupils are to state what fraction of a group of has been shaded and simplify the
fraction if possible.

Question 28 is a word problem involving division / sharing money.

In this activity, pupils are to utilize the multiplication and division facts to solve problems involving
large numbers, plus a word problem involving either multiplication or division. Encourage pupils to
use rounding skills to mentally check sensibility of their answers.

147
Example: X 2 62

294 2

Check sensibility of answers by rounding
150 x 2=300, 120+2=60

AWS
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Worksheets 21 to 40

Worksheet
Activity

Teaching Ideas

A

¢ In this activity, pupils are to determine how a sequence of numbers was created, complete the
sequence and describe how it was created.

Example: 2 _,8,10,_,_,16 _,22 Starting at 2, skip counting in 2's.

B

¢ In this activity, pupils improve their recall of numbers and develop mental arithmetic skills as they
write the numbers that come before and after a given number skip counting in 2's, 3's, 4's, 5's, 6's,
7's,8's,9's or 10's.

¢ In this activity, pupils are to round 4 digit numbers to the nearest 10, 100 or 1000 as required.

strategies when solving.

Example: 164 +427 =591, 895-179 =716, 534+ 359

519 - 144 =3

e Questions 1 to 8 involve adding two 3 digit numbers involving carryirf@hon the first 2 digits,with
appropriate subtraction combinations and questions rearranged pupils to developémative
e Questions 9 & 10 are word problems, involving in pacting using skil&xt in
previous questions.
0 eg@ble pupils to utili strategy skills they

e Questions 11 & 12, a 3 x 3 number matrix is u
know to solve these problems as quickly as poss

ny
he matrix offers ion of adding a@toss
or down, combining numbers that add 00 or 1000 or any 0@ ifig pupils prefer.

Example:
O (@
4% 1000 Q
+8=2338 ‘
OﬁlOOO +338=1
ded up the nu ompare methods used.

ctivity, questions the multiplication fac r2's,3s,4's,5's,6's,7's, 8s,9's
s. Exam 5x5=25, 7x 30 =70, etc.
guestions 9to 1 multiplication facts h beendearranged to allow pupils to develop

alternative tegies n solving. =12,10x3 =30
. ord problem involvi
. revise the *visi r2's,3s,4's,5's,6's, 7's, 8's, 9's and 10's.

: 6, 25+5 8, etc
i 22 to 25, the digiSion e been rearranged to allow pupils to develop alternative
s when solvi E le” 12+2=6, 25+5=05, etc.

estion 26, pu o shade in a fraction of the shape.

In question 2 il state what fraction of a group of shapes has been shaded and simplify
the fraction if

e Question 28 is ord problem involving division / sharing money.

¢ In this activity, pupils are to utilize the multiplication and division facts to solve problems involving
large numbers, plus a word problem involving either multiplication or division. Encourage pupils to
use rounding skills to mentally check sensibility of their answers.

147
Example: X 2 62 Check sensibility of answers by rounding
294 2| 124 150 x 2 =300, 120 +2 =60
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created.

b

==\

2’ 14 14 8’ 14 14 14 ’6’ ’8’ —_— JIJ
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in3's, write | 2d Example: 23432 23u0, 2343 = 2300, 2343 = 2000,
the number u8 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes YL TTEES u 7 636l >
<§-§ before 5 67 2 288 5 89
and -
affer.. B> u 8l 2 1226 = q&
E Add or subtract these numbers. Itioly and divide numbers
Loled + Y27 = 9. If you have $3ud and
——| are given 3273, h - L 3 x 2.5 x|
2. 362 + 685 = much money >+
g7 | nowha\@? ' sglo “ |
3 + 359 = 893 : - B
« 561 + =7574¢,;= \X8=_Q 0=
5 895 - 179 = lo. @ve 3654 2 x U = . 7 x 5 =
o end 3238,9 | e
6. 758 - 58U = much mo X 16 o. 7 X =
7. - =
- 538 I %_ 32 |2 x 9 = 63
5 519 - 1. fikou By 20 books at 35 each, how
muGh would it cost? L
%) @
X =
2 5 +200 + 8
5 90 + 7 + 20 + 2 = 5 10 + 5 =
. 260 + 70 + 10 = 7. 63 + 7 =
52l § + & = v 54 + 9 =
Mulh’p ing and divi 0 M+ 2 = 230+ 5 =
I Iu7 2 25 3. 185 Y 2 | 2 + 10 = 6 |3 28 =+ =y
X2 X2 xJ3 x3
u 6y + = 8 |2 + 9 =5
26.Colour in'/; of
this shape.
5, é. 7. 8. @@O@@
27. What frac tion of these
20120 216 3159 3]2u6 | Gt s shaded? Y0g 0
9. {f one c:c:fr9 costs 321,000, how rnuch' wopuld 28 If 332 is shared by U people, how much
it cost to buy 7 cars at the same price? ’a money does each person get? -
- '

EXYZ} Do NOT PHOTOCOPY THIS PAGE |
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e Muiber Knowledes Workshast

T

Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created, %
5’ ? 14 20’ 14 14 ? L’OI L’5’ —_— 60
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
inu's, write ! 16 Example; 23u3= 2340, 2343 2300, 23u3 = 2000,
the number €0 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2

that comes - L a3l > « 716y &

<}-€ .. before | 5 2 W83 o

and E— E—
after ... %é> d, 79 i 2379 =

E Add or subtract these numbers.

L 636 + 335 9. If you have 3238 and .
— are given 3dlé, ho S

2 593 + 264 much money 66 ot

3 + 158

u 353 + =

5 873 - U5 =

6. 653 - 382 = ] . 9 x = u5

- 293 = L2 % v |2 x 5 = 30

8 907 - = 13 If&b; books at 320 each, how
mucfwould it cost? L

I 200 + 463 9 B

2 8 + 3 + gy B

5 50 + 85 + v 80 + 10 = 5. 7+ =

' 7
[T B 24+ & = | I8+ 9 =
15 yq + W3 + 28 5 g By + 2 = By + 5 =
Multiplymg and divida %bers. .50 + 10 = |56+ 7 =
I 169 2. 34';% 175 " 369 |2 + 8§ =9 |» 8 + =49
x2 x2 x3 x3

o 12 =+ = 6 |2 + 5

]
Q

26.Colour in'/, of
this shape.

3 7 8,
27. What fraction of these OSSO
2170 2182 3183 3222 shapes is shaded? ®<> <>®<>

7 Ifucars all the same price cost $48000, Zgggw. | 25 If U2 is shared by 6 people, how much
how much would one car cost? : money does each person get?

5 - ot i,
- = ‘
0 -
|

Y2} Do NOT PHOTOCOPY THIS PAGE | _ ——
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created. ‘%
’0' 14 14 L’OI 14 14 14 80’ qo’ —_— ’20
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in 5's, write ! 25 Fxample: 23u3= 2340, 2343 2300, 2343 = 2000,
the number 50 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2
that comes . 2289 & 32 7 7223 o
<§-§ before 5 67 2 6313 5 35
and -
after ... E:-b y 8l 33135 = ‘ '

2. 200 + 79 + 6

5 659 - : s
! qo%ﬁg ug +

R

E Add or subtract these numbers.

&
o you hge I:XE »

%
numbers

L 739 + 227 = 9. If you have 3752 and |
7 — are given 3165, h & - L 3 X 2 9 x

2 754 + 192 = much money =1

s +269 = 688 Mowhae? ‘o2 —“ 8 —

.« 593 + = 887 %;: \" 0= Q =

5 942 - 136 = . @ve 3692 (=6 8 x o = & 9 x 9 =
o end 3152, ¢ e —

6 738 - 672 = much mo . x = 0. 5 x = 25

7 - 278 =

9
no | % =20 |- x 7 56
13, ou Duy 20 books at 36 each, how

u&h would it cost? L

X = : @

13, 96 + 500 + = v 56 + 8 = 5 36 = q =
Mo 62 + + 9 + 34 6. 16 = 2 = 7.5 + 5 =
15 28 160 + 5 8 90 = 10 = 9. Q1 + 7 =
Mulh’p ing and divi mbers. 20 40 + & = 2.9 + 9 =
I 293 2 2 3 251 y 24 | 22 + 2 =5 |5+ = 3
x2 x3 xy x5
u 0 + = | 25, + 7 = 6
26.Colour in '/s of
this shape.
5, 6. 7. 8. @ O O O
27. What fraction of these
20188 3168 U 248 5)365 | Gl shaded? @OOOOOO@
9. If one car costs 318000, how much would it 28.If 336 is shared by 3 people, how much
cost to buy 3 cars at the same price? .| honey does each person get? -

EXYZ} Do NOT PHOTOCOPY THIS PAGE |
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e Muiber Knowledes Workshast

f‘,_
Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created, %
3’ 14 ? ’2’ 14 14 ’JL" 27’—’—' 36
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 6's, write ! I8 Example: 23432 23u0, 2343 2300, 2343 = 2000,
the number > Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes - 1837 > « 3621 =
< % ... before -
3 79 2 32 =
and
after .. %%> u, q0 3 3825 =
E Add or subtract these numbers.

1132 + 269 9. If you have 3535 and

— are given 3157, ho F_J
2. 48l + 347 much money d 5
now have® 6

3 + 525 = 75l .

“ 334 + = 4Q;= 5&\

5 886 - 129 = 0. If @e 937 W= x 5

T 2| Ld d 3273, W

6 719 - Sul = LCh mon . . x 10 7 x =70

ro -7 = L8 % s |2 x 9 = ¢

8 709 - = 13, If&b; books at 320 each, how
muchWwould it cost? )

w79 + 6 + 2 9

X = "'

27 + o0 + 66U 60

/3,80+38+36= w8 + 2 = 5. 20 + 5 =
()

w120 + | 290 + 8u .30 + 10 = |7 70+ 7 =

57 + 02 + 3#§g BU§ + & = |m 72 % =

Multiolymg and dividi bers, 0 2 + 2 = 250 + 5 =
I uzé 2. 396 3. usl g, 372 | 22 + 10 = 4y | 35 =+ = 5
X xy

x2 3 x5

Q

u Yo + = 5 |os + 9 = 3

26.Colour in''/; of
this shape.

7. 8.

5. 6. .
27. What fraction of these QY
2] 136 3/252 4372 5425 shapes is shaded? 88%

9. If 5 cars all the same price cost 375000, L, | If 350 is shared by 5 people, how much
how much would one car cost? &7 money does each person get? -

Y2} Do NOT PHOTOCOPY THIS PAGE |
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created. ‘%
L’l 14 14 ’6' 14 14 14 32’ 36’ —_— I.lg
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in7s, write | 21 Example: 23u3= 2340, 2343 = 2300, 233 = 2000,
the number y Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes 9 L 3626 . 1827 o
@g ... before 5 78 2 YMg o : 5 73
and - Q
after ... E:é> " 92 3 92 = ~ 5 = 9&
E Add or subtract these numbers. Itiply an deumbers
L I57 + 527 = 9. If you have 3273 and
——| are given 366y, h ~— L 5 x | 2 7 x -
2254 + 173 = much money =

now hav@?

. u 8
s+ 558 = 983 — Q —
v 796 + =9374¢,;= \"-7=_¢ 3=
5. 856 - 317 = . %ve}ééS 0 x 9 = & 6 x 7 =
T end 37, @ (s e
5 . 9 x =27
=0
y

é. 973 - 59.? = /T)UC/'I mo q X

, - = o you haye lefTs

; 228 ] % 5 x5 =20

: 13, l{ot: 20 books at 37 each, how
mu

would it cost? 2

2200+ 8 + 5 7
395 + 4 + g = w00 + 10 = 5 63 + 7 =
w24 4+ + 3 + 1 6. 16 = 8 = 790 + 9 =
15. 29 530 + 8 6 + 2 = 9. 35 + 5 =
Mulh'p ing and divi mbers, 20.20 + 10 = 228+ 7 =
! 538 2 U2 3 739 v 586 | 22 + & =10 |» 63 *+ = 7
x2 x3 xy x5
o 8 + = 4y |25 + 5 = 2
26.Colour in''/4 of
this shape.
5, é. 7. 8. PR
27. What fraction of these <
2)uqu 3/ 873 | 6l6  5[U60 | il shadeds XOXS
, VAN |
9. If one car costs 319000, how mucf: would it 28 If 35U is shared by 9 people, how much
cost fo buy 6 cars at the same price? [ P money does each person get?

EXYZ} Do NOT PHOTOCOPY THIS PAGE |
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G\

T

Term: Week:

Signed when completed (teacher or parent):

e Muiber Knowledes Workshast

Write in the missing numbers for this number sequence, then describe how it was created,

&

and

after ... %%> d. 83 ’

1565 =

6’ 14 14 JIJ’ 14 14 14 IJ8' 5”” —_— 72
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in2's, write ! u Fxample: 23u3= 2340, 23u3 = 2300, 2343 = 2000,
the number Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
thatcomes 2 ug L 7428 o . 2429 &
<}-€ before | 67 2 2354 5

E Add or subtract these numbers.

L 163 + 629
2 uél + 372
3 + 224

u 193 +

5. 762 - 338
6. 737 - 5u3
7. - 208 =

5 985 - =

593

I d4oo +
2 9 + 200 +
5 70 + 65 +

w70 + 3
15 U +

9. If you have 3347 and

are given 3318, ho F_J
much money 66 o4

Multiplymg and divida
L 825 2 916 3.
x2 x3

how much would one car cost?

ug2 g 139
xy x5
5, é. 7. 8.
2 318 3 579 u| 712 5] 730
9. If 9 cars all the same price cost 3189000,

| 28.If 363 is shared by 7 people, how much

10 %50 :
5. If &b; 0 books at 320 each, how

muchWwould it cost? Ll
S
X =

v 8 =+ 8 = 5 9@ + 9@ =
6. 12 + 2 = 725 + 5 =
8 Yo + 10 = 9. 56 + 7 =
2 |6 + 8§ = a 72 + 9 =
22 + 2 = 8 |45 + = 9q
100 + = 10 |2 + 7 = 3
26.Colour in'fg of
this shape.
27. What fraction of these OO0
shapes is shaded? OQQQQQ

money does each person get?

e

Y2} Do NOT PHOTOCOPY THIS PAGE |
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s Momber Knowkdze Worksheet

Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created. ‘%
7’ 14 14 28’ 14 14 14 56’ 63' —_— 8”
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in 10's, write ! 30 Example: 23u3= 2340, 2343 = 2300, 233 = 2000,
the number 80 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes L 318 o 7 363 o
<§-§ ... before 5 6u 2 937 = . ; 5 8u
and - ’
after ... E:é> Y 99 > 7315 = . 73 = ‘7&
E Add or subtract these numbers. Itiply an deumbers
L 542 + 2ug = 9. If you have 3496 and
——| are given 3u2l, A ~— | L 6 X 2 5 x
2 43 + 583 = much money =

now hav@?

. u 6
3 + 178 = &9 e Q e
.« US55 + 5ug %’s = \X 8 =‘Q =
T e (99

5 754 - 139 0. ve 3692

end 3218,
6 gl6 - 254 much mo ®
4 - 228 o you haye leffs

2 x 8 = 9 x 5

X Ise 0. 7 x = 2
%— 56 |2 x 9 72
ou Duy 20 books at 38 each, how

mu&h would it cost?

X = ' @

9.
1.
13.

& 735 -

I 200 lo + 70 +
2850 + 83 + 9 ;

v/ —
33 + 500 + 60: o + 2 = . 5 + 5 =
w13+ + 22 + 290 6 90 = 10 = 70 + 7 =
15. 260 ud + Ll‘]& 3 Y8 + 8 = 9. A7 + 9 =
Mulﬁp ing and divi mbers, 0 I8 + 2 = a 15 + 5 =
! 615 2 38 3 586 “ 472 | 22 + 10 = 6 |2 4g =+ = 7
x2 x3 xd x5
o yo + = 5 25, + 9 = 10
26.Colour in'f; of
this shape.
5, 6. 7. 8. <><><><>
27. What fraction of these OO®
20736 3894 w636 5875 | Gl s shaded? FR%%
q. {f one car costs 323 000, how mucﬁ would 28 If 35U is shared by 9 people, how much
it cost to buy 8 cars at the same price? r [ o money does each person get? -
_,;_ :;Fr B i =
l : - @

EXYZ} Do NOT PHOTOCOPY THIS PAGE |
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G\

T

Term: Week:

Signed when completed (teacher or parent):

et Mumber Knowledos Workshest 8

Write in the missing numbers for this number sequence, then describe how it was created,

&

8’ 14 14 32’ 14 14 14 6“’ 72’ —_— 96
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 6's, write ! o T} Example: 23u3= 2340, 2343 2300, 23u3 = 2000,
the number 60 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes L 3549 < v 6U33 =
Q‘;g... before 3 8’ 2 7092 l:> 5, 2
and - - -
after ... %é> Y g5 3 9125 =
E Add or subtract these numbers.
. 515 + 287 = 9. If you have $u?dand .
——| are given 3218, ho =
2 786 + 192 = much money d st
s 46 = 77| Mowhaved 6
u 295 + =
5. 757 - 238 =
6. 828 - 3 = . x 8 . 9 x = 90
7.—- 253 = no2 % 8 |2 x 5 =15
8§ 708 - = 13 If &b; books at 320 each, how
muchWwould it cost? 2
L e +4gho 9
< X =
2. 4oo + + 70 8
5 70 + 8 + %}-_— M 20 + 10 = 5.4y + 7 =
o
M2 + 2 54+w . 56 + 8 = 7. 63 + 9 =
5. 180 + + 33 24 g 8 @ + 2 = 9. 20 + 5 =
MultiolyiNg and divids bers. 20 80 + 10 = 2352 7 =
! u79 2 526 3 397 v 589 | 2 + & = 9 |1 54 + = 6
x2 x3 xd x5
M 6 + = 3 25 + 5 =0
26.Colour in'/jp of
this shape.
5 6. 7. 8. O O O
27. What fraction of these
2| 594 3522 Ul 668 5965 shapes is shaded? O®QO
9. If 8 cars all the same price cost 3112 000, g | 25 If 36U is shared by 8 people, how much
how much would one car cost? .o A| moneydoeseachpersonget? .

Y2} Do NOT PHOTOCOPY THIS PAGE |
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s umber Knowledse Workshest

Term: Week:

Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence,

b

==\

then describe how it was created.

E Add or subtract these numbers.

L 326 + 315 = 9. If you have 3182 and
—_— are given 3653, h =
2. 5'-’2 + 273 = much money _____‘E‘
L +ues = g73 nowhaeZ
« 193 + = 627 =
5 973 - 328 = . ve Jugeé
T & end 3159, @
6. 558 - W72 = muchmo

7.

2500 + "3 + G
56 + 80 +

- 536 oyouh eI
30 + 58 + Q

13.

w160 + + ul +.‘28’

q’ 14 14 36’ 14 14 14 72’ 8” 14 14 ’08
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in 8's, write 32 Example: 23u3= 2340, 2343 = 2300, 233 = 2000,
the number 56 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2
é’_’é’ comes L W67 = 7 UT3E =
... befor _ -
erore 79 2 U7l o 5 9l
and -
after ... E:-£> u qu . 98 =

=3
S
<
S

Q G
Q
s
&

R

‘0\

5 68? 13
. | Multiplping and divi v
3

mbers.
LI68 Y 73d
x5
5. é. 7. 8.
20832 3957  u 856 920
9. If one car costs 325000, how much would
it cost to buy 5 cars at the same price?

¢ 4@’ )

numbers
L2 X 2 9 x -
“ON @
\x o = Q =
x 9 = & 6 x 9 =
—e o. 5 x = 50
12. x 7 = 35
L(O books af.}.? each, how
Would it cost? 3
M 32 + 8 = 5 45 + 9 =
§ + 2 = 7 35 + 5 =
8, 50 + 10 = 9. I = 7 =
20 8 + 8§ = a I8 + 9 =
22. + 2 =10 |23 |0 + = 2
90 + = 9 |25 + 7 =9
26.Colour in /s of
this shape.
27. What frac tion of these Q Og
shapes is shaded?
28 If 38l is shared by 9 people, how much
money does each person get? .
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Term: Week:

Signed when completed (teacher or parent):

et Mumber Knowledos Wotkshast 10

Write in the missing numbers for this number sequence, then describe how it was created,

&

” ? 14 7’ ? ? ’3’ ’5’ ? 14 2" ? 25

Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
ing's, write ! I8 Example: 23u3= 2340, 2343 2300, 23u3 = 2000,
the number 45 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000

2.

that comes L 4638 = v 3736 @ 7 Uy357

<}-€ ... before 5 67 2 5154 o s 5 282

and — — -
after.. B> 83 3 Y38y > 7 &

how much would one car cost?

E Add or subtract these numbers. ply and divide th mbers
L 813 + 138 = 9. If you have 3337 and .
——| are given 3159, ho - L d x 2 5 x 7
2 396 + U35 = much money d hat
s + 278 = 783 now have® 6 s I Q_ e
« 6 + = x fs = s&\ = =
5. 85| - U8 = lo. If @e 617 x 10 = x 5 =
4 a d 33wy,
6 839 - 565 = uch mon x lo .7 X = 63
T H29 = n 8 % S | x 9 = I8
& QU7 - = 13 If &b; books at 330 each, how
muchWwould it cost? L
L UoO + 38 + 8 9
X =
2 7 + + 69 500
IJ,50+6+36: Mo+ 2 = 5 30 + 5 =
®
wo o + 8. 3 + 320 6. 10+ 10 = 28+ 7 =
5 6 + 06 + 28 .?g 5 56 + 8 = 9. 8l + 9 =
MultiolyiNg and dividi bers, 0 Y + 2 = A U0+ 5 =
! 9l6 2. 583 297 v 568 | 2 00 =7 |» 7 =+ = |
x2 x3 xy x5
TR [T = 3 25, + 9 =y
26.Colour in'/, of
this shape.
) ’ 7 ) t frac tion of th S
27. What frac tion of these NAN /N
2718 3] 735 v 8éu 5795 ; \VZ
shapes is shaded? % A%XA
9. If 7 cars all the same price cost 3119000, | 25.If $56 is shared by 7 people, how much

money does each person get?

e
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s umber Knowledse Workshest

Term: Week:

Signed when completed (teacher or parent):

Write in the missing numbers for this number

b

==\

sequence, then describe how it was created,

” 6' 14 14 14 26’ 14 14 u” 14 14 56
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
inu's, write ! 12 Example: 2343 2340, 2343 2300, 2343 = 2000,
the number 28 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2
that comes L 6266 = . 76 N
<§-§ before | 37 2 3172 5 3l
and -
after ... E:é> y 50 3 1956 =

E Add or subtract these numbers.

L 728 + 5 = 9. If you have 3569 and |
———| aregiven 3125, h - 3 x 2 4 x|
2. 36l + us6 = much money +
now hav@? e « 5
s+ 577 = 892 i — Q —
. U82 + = 968 = \"8=_¢ 0 =__
5 685 - W49 = lo. ve$88ll 3 x d = & 7 x 4 =
— end$2.77 e
6 649 - 185 = much ,,,o o. 7 x = I
, - = oyouh eI
7— 329 % 12 x 9 = 63
s 758 books at 36 ¢ each, how
would it cost? L
6 WeoQ + us + @
x =
2 90 + 7 + 2
5 300 + 67 + 30 + 3 = 5 & + U =
0
v 32 + + 5 + le. 49 + 7 = 7. 63 + 7 =
15. 271 180 + 8. & + 8 = 9. 54 + 9 =
.Mulhp g and dii mbers, 20 21 + 3 = A2 2 + 4 =
! I57 2 3 709 “ 635 | 22 + 6 = 6 |2 28 + =y
x5
u 6y + = 8 |2 + 9 =5
26.Colour in*/; of
. S this shape.
. é. 7. .
27, What fraction of these
20776 37w rad 5] 8uSs |7 G S shaded? TN
9. If one car costs 316500, how much would 28. If $u50 is shared by 5
. , : v 5 people, how
it cost to buy 5 cars at the same price? . Havpﬁ much money does each person get?

EXYZ} Do NOT PHOTOCOPY THIS PAGE |
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Term: Week:

Signed when completed (teacher or parent):

e Muiber Knowledes Workshast

Write in the missing numbers for this number sequence, then describe how it was created,

&

2’ ’2' —_— L’JI 14 14 14 82' 14 ’02’
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 5's, write ! 25 Example: 23u3= 2340, 23u3= 2300, 2343 = 2000,
the number Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
thatcomes 2 60 T . 6139 o
<}-€ before 5 38 2 W88 o
and - - -
after .. %é> u 87 i 3626 =
E Add or subtract these numbers.
L 268 + 224 = 9. If you have 3657 and .
——|  are given 3227, ho -
2 172 + 563 = much money d hgt
s 4 uM = 693 MOWhaved 6 |
« US7 + = 9| % ’S = 5&\
5 76l - 235 = lo. If %e 875 (S x 7
4 a d 3390, ol §
6 638 - U62 = uch mon : - x & - 9 x = us
7. - = you have, lef
-39 L3 %;)1 12 x U =20
8 QuUg - = 13 If&b; books at $50 each, how
muchWwould it cost? Ll
6 +Woo 59 + 6 9
X =
2. 500 + + 80
5 u7 + 70 4+ %}: uwUg + 6 = 5 7 = 7 =
()
w 31 + 5 Yy + 50 6. Q4 + & = 7. I8 + 9 =
15 260 + + 29 uy g 3 I8 + 3 = 9 32 + 4 =
MultiolyiNg and divids bers 2035 + 7 = 256+ 7 =
L 826 2 590 3 36l “ o2 | 22 + 8 =10 |» 8 =+ = q
x2 x3 xy x5
u |8 + = 6 25 + Yy =9
26. Colour in %/, of
this shape.
5. 6. 7. 8. <>®<>
27. What fraction of these
20978 3 &3 u86u 5725 | G0 5 shaded? e
7 If 6 cars all the same price cost 389400, Zgggw. | 25 If 3540 is shared by 6 people, how
how much would one car cost? g 2 much money does each person get?
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):

b

==\

Write in the missing numbers for this number sequence, then describe how it was created,

” IJ' 14 14 ’3’ 14 14 22' 14 14 3”
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in7s, write | 21 Example: 23u3= 2340, 2343 = 2300, 23U3 = 2000,
the number y Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes 9 L 2361 . 674d o
<}-§ ... before N 83 2 7439 = 8 34
and -
after .. E:é> " 96 3 1793 = 9&
E Add or subtract these numbers. Itioly and divide numbers
L 242 + 5uy8 = 9. If you have Ju85 and =
——| are given 3390, h -+ 9 x 2 9 x
2. 567 + 362 = much money +
- =
now ha\@? ‘93 “ & S

3. + 853 = 982 ' '
. 572 + = 715 4;: N6=_¢ I =
s 876 - 367 = 0. f%:ve 373 8 x 10 = &
— end 32359 B0 e
. X 5 o. 4y x =2y

6. 869 - 685 = much mo

q
Il = 12 R x 7 = 56
13. [Rkou Buy U0 books at 37 each, how

u

would it cost? 2

X = ' @

. 40 + 9 + 7 = v o6y + 8 = 5. 36 + 9 =
Mo g3 + + 200 + 24 oM+ 3 = modosdo=
15.27W 5 + 1 3& 5 54y + 6 = 9. 2 + 7 =
Mulh’p ing and divi mbers. 20 40 + & = 2.9 + 9 =
I 284 2. 39 3. 628 g ugl | 22 - 3 =5 |22 = = 3
x2 x3 xd x5
N 6 O+ = | 25, + 7 = 6
26. Colour in %/s of
this shape.
5, 6. 7. 8. @ <:> Q
27. What fraction of these
2756 3987 4980 5 860 | g haded? O@OQOOG}
% If one car costs $13200, how much would it 26.If 3360 is shared by U people, how
cost fo buy 9 cars at the same price? ’a much money does each person get?
- B
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Term: Week:

et Mumber Knowledos Workshast 14

Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created,

&

" 5’ 14 14 ’7' 14 14 14 33’ 14 14 L’5
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 8's, write ! o T} Example: 23u3= 2340, 2343 2300, 23u3 = 2000,
the number o Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes L 5492 = u gy >
<}-€ before | 79 2 7265 o 5 2
and E— —_— -
after ... %é> Y g5 3 52 =
E Add or subtract these numbers.
L 537 + u25 = 9. If you have 3538 and .
—— | are given 3235, ho -
2 753 + 186 = much money d o4
s 4256 = 695 owhaved 6 |
v 231 + = 927 49; = &\
5. 696 - 269 = lo. If @e 729 4 x 5
T 2| Ld d 362, W
, - = you have lef,
no - 287 //_8%8/2 x 9 = ¢
8 789 - = 13, If &b; books at 360 each, how
muchWwould it cost? L
79 + 7 + 5 9
X =
2. 700 + + 68
5 82 + 400 + 6: M 27 + 3 = 5 |6 + U =
()
w8y + | 2 + 20 6 18 + 6 = 770 = 7 =
5. 5 + 9 + 26 53& s Y8 + 8 = 9. 72 + 9 =
MultiolyiNg and divids bers 20 3 + 3 = 228+ U =
I 536 2 613 i 950 y 379 | 22 + 6 = 4 |23 35 =+ = 5
x2 x3 xy x5
u Yo + = 5 | + 9 = 3
26.Colour in */yp of
this shape.
5. 6. 7. 8. O O
27. What fraction of these
2] 938 3879 v 872 5/ 925 shapes is shaded?
9. If 8 cars all the same price cost 3101600, . | If 3350 is shared by 7 people, how
how much would one car cost? g 2 much money does each person get?
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created.

b

==\

” 7'—'—’25' 14 14 'L(q’55’—’
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
ings, write ! ol | Example: 2332 2340, 2343 = 2300, 23u3 = 2000,
the number 5 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
thatcomes 2 u. L 3062 o .5 . 763l
<§-§ :efore N 50 2 3429 o . ‘ 5 3
an -
after .. E-b " 7 3 7153 = ~ > o q&
E Add or subtract these numbers. Itiply an dﬂ»numbers
L 365 + 236 = 9. If you have 3567 and
——| are given 3162, h ~— |1 &5 x 27 x
2 Us8 + u9ql = much money =1 5
- 3. u,
s 4354 = 672 MOWhaeZ O 0 — ‘7% -
« U3+ = 619 %;: \" 3 =—Q T
5. 680 - 257 = . @ve.ﬂéﬁ x 9 = & 6 x 7 =
o end 3168, @ e
6. 956 - U8d = much mox : q x 6 . 9 x = 27
7 - = o you haye lefTs
- 318 I, = 0 12 x U =16
8 657 - = 13. ff%ou Bly 30 books at 39 each, how
u&h would it cost? L
I 80 + U2 + @
- - X - —
2 8 + 500 + 6 S500:= s
5 600 + 58 + = M 60 + 6 = 5 63 + 7 =
o
W3+ + 62 + 9l 6. Y& + 8& = 790 + 9 =
15, 7? 170 + 39 8 9 + 3 = 9 40 + 4 =
Mulﬁp ing and divi mbers, 0 12 + 6 = 2.28 + 7 =
I 63 2. 35 i 20d Y 157 | 22 + 8 = 9 |» 63 + = 7
x2 x3 xy x5
o 12+ = 4y |25 + 4 = 2
26.Colour in °/5 of
this shape.
5, é. 7. 8. AVA
27. What fraction of these
2/856 3852 U768 5810 | 4l S shaded? Vg
9. If one car costs 317400, how much would it 28 If 3560 is shared by 8 people, how
costto buy 7 cars at the same price? ¢ ’a much money does each person get?
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et Mumber Knowledos Workshast 16

f‘,_
Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created, %
” 8' ? 14 Jq' ? 14 14 57’ 6”’ —_—
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 3's, write | 15 Example: 23432 23u0, 2343 2300, 2343 = 2000,
the number 33 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes L 2349 o
<}-€ .. before | 71 2 1783 o
and - -
after.. o> 89 3 8U55 =
E Add or subtract these numbers.

Luyl9 + 271 9. If you have 3727 and

— | are given 3168, ho F_J
2 68U + 185 much money d s
N + 236 now have® 6
. 675 + = 839 4%=
5 686 - 2J7 lo. If %e 769
a d '

]

9
S
=

6 639 - S = uch mon \ Y x 3 ST ¢ = 32
, - = you have lef
7_ 633 o é % 2 |2 x 7 = 0
8 718 - = 13, If &b; books at 40 each, how
muchWwould it cost? Ll
2 s 99 + 3 9
X = "'

2. 400 + + 84 60
IJ,80+53+66: v 80 + 8 = 5 9@ + 9@ =
()
woul o+ 3 33+w 6 I8 + 3 = 720 + U =
5. 5S40 + 210 + 93 66 g 8 d + 6 = 9. 56 + 7 =
MultiolyiNg and divids bers. 20.56 + & = 272+ 9 =
! 18U 2. 268 3 517 u 63l | 22 + 3 =8 |2 36 + = q
x2 x3 xy x5
M 60 + = 10 |2 - 7 = 3
26. Colour in %/, of
s 5 this shape.
X 6. 7. §
27. What frac tion of these %% %g

9. If 5 cars all the same price cost 396000, g | 5 If 3uBO is shared by U people, how
how much would one car cost? p ‘m_ much money does each person get?

¥,
’
g -—
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st Mumbar Knonledzs Workshaet

Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created. ‘%
” q’ 25’ 14 14 14 57’ 14 14 14 89
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in é's, write ! 36 Example: 23u3= 2340, 2343 = 2300, 233 = 2000,
the number 5y Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes L 86 o L 386 ©
<§-§ before 5 77 2 6T o 5 30
and -
affer... E:b u 83 3. |-I87I = o o ‘7&
E Add or subtract these numbers. Itiply an dﬂ»numbers
I 228 + 626 = 9. If you have 3495 and A=
——| are given 3274, h - L 6 X 2 x -
2395 + 291 = much money +
now ha\@? = sg6 “ &
s+ 829 = 963 i — Q -
« M3+ =927 = \”“—Q T
5 764 - 539 = io. ve$6‘16 x 8 = Qf;xu-_-
— end 35, @ e —
6. 668 - 176 = much mo 0. 7 X = 2l

% 12 x 9 72
l{v books aT.WO each, how

would it cost? 3

X = ' @

7 - 259 = oyouh eI
& 988 - . s
n. 70 + & +

6

2 60 + 7 + 50 3
5 400 + 87 + Y .15 + 3 = s o4 + 4 =
®
v 80 + I3+L{ 6. BY + 6 = 7 70 + 7 =
280 + 8. 16 + 8 = 9. 27 =+ 9 =
.Mulhp g and dvi mbers, 0 .27 + 3 = 212 + 4 =
! 509 2 3 739 “ o 248 | 22 + 6 = 6 | 4g + =7
x5
o o + = 5 | + 9 =0
26.Colour in °/, of
this shape.
5, 6. 7. 8. <>®<>®
27. What fraction of these
2852 3/ 98u U 76 5965 | G shaded? g%oz@go
% If one car costs $15800, how much would 26 If $u50 is shared by 9 people, how
it cost to buy 8 cars at the same price? . Havpﬁ much money does each person get?

EXYZ} Do NOT PHOTOCOPY THIS PAGE |
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et Mumber Knowledos Workshast 18

f‘,_
Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created, %
” ’0’ 14 ? 37’ ? 14 14 73’ 14 ? ’00
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 10's, write ! 30 Example: 23u3= 2340, 23u3 = 2300, 2343 = 2000,
the number 70 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes L3621 & ¢ 2 o
<}-€ ... before 5 Y5 2 355 o
and - -
affer... % u 93 3. I.?7|-{ =
E Add or subtract these numbers.

9. If you have 3378 and |

L 458 + U225

——| are given 3318, ho F_J

2 263 + 655 much money d hat
s+ 3 = 893 nowhaved 6
v 382 + 557 4%=

5 875 - 5l6 0. If. @e 779 &
a d j L

6 869 - 294 = uch mon \ ' x & . 9 x =90
- - ou
7 38 = y L3 % 7 | x d = 12
& 719 - = 13, If&b; 0 books at 36 each, how
muchWwould it cost? )
L g0 + 600 + 9
X =

= 5. Y + 7 =

12. 40O + + 80 59 R
3 52 + 300 + 6 = 6

®
w120 + o + 9u 6 l6 + & = 7. 63 + 9 =
T} + O7 + U7 50& 8 3 =+ = 9 16 + U =

3
MultiolyiNg and dividi bers, 0 U8 + 6 = a 35+ 7 =
I 709 2. 240 3. 635 u. 286 | 22 + 8§ = 9 2 5y + = 6
x2 x3 xu x5
au 9 % = 3 |5  +d4 =10
26.Colour in /s of
this shape.

) ’ ' ’ What fraction of th EARLS)

27. ar fracrtion o ese
2/994 3768 U U8 5985 | 4 iesis shaded? ®O®®®O®

9. If 9 cars all the same price cost 3150300,

how mreh would one caf Cost? L | > If 3720 is shared by 8 people, how

much money does each person get?

_' = “
: =
|

Y2} Do NOT PHOTOCOPY THIS PAGE | _ —
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s Nomber Knomhdse Norkshest 19

Term: Week:

Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created,

b

==\

3' 8’ 14 14 23’ 14 14 14 L’j’ 14 14 58
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in 8's, write ! 32 Example: 2343 2340, 2343 2300, 2343 = 2000,
the number 72 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2

that comes L7223 o 7 37 N

<§-§ before | 57 2 1382 N .?3

and -
after.. >« gl 3 368 =

E Add or subtract these numbers.

L U7 + 354 = 9. If you have 3293 and |
——| are given 3u8é, h
2. 671 + 277 = much money
; + uug = eu now ha\@?
« 697 + = 759
5 690 - 437 = i, ve 3888
Y end$379
6 638 - l66 = muchrno
7 . 7,5 = oyouh eI
0 + U8 +
2 70 + 85 + 6
5 400 + 93 +
®
m + LII + 16
15. 29 380 +

%mbers

. | Multiplping and divi

L 7‘73 2 3 590
x5
5 6. 7. 8.
2/978 3888  u 996 995
9. If one car costs 318300, how much would it
cost to buy 6 cars at the same price?

X 2.

g9 x
.30 e
\x6=_¢ 6
8§ x 9 = Qéx‘i
—elo.tlx

12. x 7 35
8’ books at .350 each, how
Would it cost? 3

o

X
M 32 + 8 = |- ys5 + g =
12+ 3 = |(7m 28+ U =
5 30 + 6 = |9 M+ 7 =
20 & + & = |2 18+ 9 =
2 + 3 =10 |2 8+ =2
. 60 + = 6 % F 7 = 9

26.Colour in 7/, of
this shape.

27. What fraction of these
shapes is shaded?

28 If 3490 is shared by 7 people, how
much money does each person get?

B
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et Mumber Knowledos Workshast 20

f‘,_
Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created, %
2’ q’ ? 14 30’ ? 14 14 58’ ? 14 7q
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
ing's, write ! I8 Example: 23432 23u0, 2343 2300, 2343 = 2000,
the number 5y Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes L7327 o 7 7Y
< % ... before N
3 72 2 4yl52 = 8 9327
and — —
after ... %%> " 97 5 485 = g &
E Add or subtract these numbers. ply and divide th mbers

9. If you have 3379 and
——|  are given 3509, ho

2. 154 + 794 much money d ,‘..-_
s +2m = 761 | MOWhaved 6

L 328 + 633

i 692 + = —
5 682 - U39 = 2 x 4 =
6. 936 - 572 = ] x 6 A ¢ = 63
7 - 476 = L8 % S | x 9 =18
8 6u7 - = 13 If &b; 0 books at 36 each, how
muchWwould it cost? o
n & + 9
X = b
2. 30 + + 400
5. 63 + 200 + 6 = w21 =+ 3 = |s 24 - u =
o
5. YO + + 62 30 8 64 + 8 = 9. 8l + 9 =
Multiolymg and divids bers. 0 6 + 3 = 232+ 4 =
L 420 2 715 3 352 u 709 | 22 + 6 =7 |7 * = |
x2 x3 xd x5
TR [T = 3 25, + 9 =y
26. Colour in /g of
this shape.
27. What fraction of these T,
2/ 976 3) qus vj 956 5) qu5 shapes is shaded? %X%
9. If 7 cars all the same price cost 3111300, g | 25.If 3630 is shared by 9 people, how
how much would one car cost? much money does each person get?
\ - i#
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created,

b

==\

E Add or subtract these numbers.

L 273 + 158 = 9. If you have 3674 and E
—_— are given 32u9, h =
2. 156 + Ué67 = much money =
5 + 582 = 96l now ha\@?
“ u76 + = 722 %;:
5. 651 - 179 = io. @ve 3526
T end 3378, @
6 82 - SM = much mo
7 - 355 = o you haye lefT$
5 962 - 2 ;
Add L@u ersine
| 50 30 120800
3 | 300
Tolo]

Multiplging and divi
l 157 2 d/ 3. 709 u 635
x3 xy X6 x7
5, 6. 7. 8.
3) 16y u) qus 6) 116 71 1183

9. If one car costs 316500, how much would
it cost fo buy 7 cars at the same price? g,

i

-

3' 7' 14 14 ’qf 14 14 3” 14 14 L’3’
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.

in5's, write ! 35 Example: 2343 2340, 2343 2300, 2343 2000,

the number 0 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000

2

that comes L 336 o 634l U >

Q&ﬁ before | yg 0 57 © . ol
and
after ... %&> u 87 . 619l = dles 9&
numbers

L3 x 2 3 x 6
. “w 8
W - -
x 7 = & Uy x 9 =
9 X ,se o. Y x = 20
Il % = 28 | x 9 = u5
13, ou Buy U books at 390 each, how
muGh would it cost? L
X = @
I8 + 2 = 5 |15 + 3 =
12 £ 4 = 7 5 + 5 =
8 36 + 6 = 9. 70 + 7 =
2 8 + 8 = 2 63 + 9 =
22 + 2 =8 |23 8 =+ = 2
u yg = = 7 |25 £ 9 =0
26.Colour in*/; of
this shape.
27. What frac tion of these g g g 8
shapes is shaded? ot Yo |

28 If 3320 is shared by U people, how
much money does each person get?

EXYZ} Do NOT PHOTOCOPY THIS PAGE |
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Term: Week:

> Muimber Knowledas Workshost

Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created,

&

IJI q’ 14 14 JIJ’ 14 14 37’ 14 14 14 sq

Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 10s, write ! 60 Example: 23u3= 2340, 2343 = 2300, 2343 = 2000,
the number 1o Round to nearest 10 | Round to nearest 100 |Round to nearest 1000

2

that comes L 863 o « 634l =

<}-€ .. before | 55 2 Gue7 =

and - - -
after.. o> 86 3 u87l =

E Add or subtract these numbers.

L Y72 + 179 = 9. If you have 3662 and_, .
—— | are given 3289, ho - L 9 x 2
2 238 + 574 = much money d st
B +355 = py | Nowhaed 6 1 & ‘9
. 165 + = 4%= 5&\
5 640 - 362 = lo. If @e 718 x 10
- 2 a d
6. 735 - 286 = ] x 3 . 5 x = 25
7'__ 635 = o é % 8 | x & = 16
8 gl - = 15 If &b; 0 books at $6 each, how
) muchWwould it cost? L
Add yp umbers in eac 9
X = -
Ll 20 | 2| 900
300 30 doo Mol 2 = s 3+ 3 =
70 20 6. 20 + 4 = 7 45 + 5 =
8. I8 + 6 = 9 49 + 7 =
MultiolyiNg and divids bers. 2032+ 8 = 290+ 9 =
L 826 2 590 3 36l “ o2 | 22 + 3 =9 |0+ = 2
x3 xy x6 x7
2 30 + = 5 |2 + 8 = 9
26. Colour in %/, of
this shape.
5. 6. 7. 8. ®®®
27. What fracti f thes
3167 u|l08u  6]1296 71015 | 48 S e ees
9. If 9 cars all the same price cost 3134100, Zgggw, | 25 If 3420 is shared by 6 people, how
how much would one car cost? .~ J| muchmoney does each person get?
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created,

b

==\

9. If one car costs 313200, how much would it

cost to buy 8 cars at the same price? g

3’ IO’ 14 14 14 38’ 14 14 59’ 14 14 80
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in3's, write | 21 Example: 23432 23u0, 2343 = 2300, 2343 = 2000,
the number Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes 33 L W32 © 7 9284 o
QE% :efore N 7 2 3279 o _ ’ 5 67
an -
after ... %&> g 79 3 6355 = ~ 5 = q&
E Add or subtract these numbers. Itiply an dﬂi»numbers
L 278 + 362 = 9. If you have $2ué6 and
—— | aregiven 3377, h ~— | L 6 X 2 3 x |
2 4dg + 286 = much money >+,
s 4635 =830 "Owhae? | — "7 —
u 576 + = 9y %;: \x 6 = =
5 86 - 349 = i, @ve.ﬁm 8 x U = & 10 x 9 =
o end $379, @ e
6 94l - 683 = much mo q X 6 o 4 X = 28
, - = o you haye lefTs
’ - g Il = 4 |2 x 9 = 5y
8 762 4* 13, ou Buy 9 books at 350 each, how
Add @u orsih e uoh would it cost? ! N
X =
| 500 60
g | 30 2 +2=__ |59 +3 =
100 6. 36 + 4 = 7. 20 + 5 =
8 30 + 6 = 9. 56 = ] =
Mulﬁp ing and divi + 8 = a 72 + 9 =
I 28U 2, 39 3. 628 d usl | 2 + Yy = 6 | 2 =+ = |
x3 xy x6 x7
18 + = 2 25 = 7 = 1
26. Colour in /s of
this shape.
5. 6. 7. 8. O @ @ @
27. What frac tion of these
30130 u|I316  6|Iuro  7]120u | 8 O heded? O@@ @QO

28 If 3360 is shared by 3 people, how
much money does each person get?
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et Mumber Knowledos Workshast 24

fé
Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created, %
3’ ”I —_— ? 35' 14 ? ? 67' ? 14 q’
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
inds, write ! 20 Example: 23u3= 230, 23u3= 2300, 2343 = 2000,
the number 9 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2
that comes 3 L3718 o
<}-€ .. before | 57 2 2345 o
and E— E—
after .. E:%> u. 69 i 3632 =

E Add or subtract these numbers.

L Y97 + 39 = 9. If you have 3569 and .
7 7 — are given 3356, ho -t x 2
2 258 + 683 = much money d oL
, + IU§ = 5g7  nowhaved 6 R Q
. - % %\
5 653 - 269 = lo. If, @e 8u2 4 x 2
— d W
6. 726 - U8 = N 4 , x 3 . 5 x = 10
7'__ I = 6 % 2 |2 x 8 = U8
5 958 - = 13, If&b; 0 books at 37 each, how
. muchWwould it cost? L
Add yp umbers in eac 9
X = s
n{ 60 S
900 2 Wl o+ 2 = 527+ 3 =
2 50 6. 4 + 4 = 7 |15 + 5 =
s 6 + 6 = |19 28+ 7 =
MultiolyiNg and divids bers. 20 64 + 8 = a 18+ g =
L 536 2 613 . 950 Y, 379 | 22 + 5 =5 | 9 =+ = 7
x3 xy x6 x7
u Yo + = 5 |os + 6 = 6
26.Colour in ’/jp of
this shape.
27. What fraction of these GO @
3/ Iyo7 uilz2 61308 71295 shapes is shaded? g%%g

9. If 5 cars all the same price cost 36u500, g | 25 If $500 is shared by 5 people, how
how much would one car cost? ¢ much money does each person get?
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created. @x
2’ ”’ —_— Jq' 14 14 14 65’ 14 14 14 IOI
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in 6's, write ! 2 Example: 23u3= 2340, 2343 = 2300, 233 = 2000,
the number 6 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes 3 L Y283 o 7 326 o
QE% before 5 68 2 7320 > 5 U7
and -
after ... E:é> u q9 3 3675 = 9&
E Add or subtract these numbers. Itioly and divide numbers
L 384 + 269 = 9. If you have 3678 and
——| are given 328U, .5 x 2 3 x -
2 278 + U8 = much money —+k
— . g 3
N + 74 = 770 now hav@? L T
v 499 + = 958 %;: \" 6 =_¢ p—
5 833 - Ugé6 = lo. ve 3853 (=4 8§ x 8 = & 2 x 9 =
I o dF R Q —
6. 727 - 667 = much mo q. X 6 .  x = 32
7. - U8 = o you haye lefT$
- J ) =49 |2 x 9 = 9
8 95y - 4* 13. [Rxou Buy 8 books at 390 each, how
7 ?
Add L@u ersine u would it cost: .' L |
x =
1700 20 | 5
80| u |30 6 + 2 = 5 18 + 3 =
600 Uy + 4 = 7. 25 + 5 =
5. 54y =+ 6 = 9. Iy + 7 =
Multioling and divi : 20 56 + 8 = 2 36 + 9 =
! 613 2 35 s 204 Y 157 | 22 + 2 = 6 |22 * = 5
x3 x4 x6 x7
M 63 + = G |2 + 9 = |
26.Colour in °/5 of
this shape.
5, 6. 7. 8. PN ZN 4
27. What fraction of these SUASA
31280 W36 61152 7|13y | G O heded? SIS4
9. If one car costs 317100, how much would it 28.If 3540 is shared b
, ' _ y 6 people, how
cost to buy 5 cars at the same price? . Havpﬁ much money does each person get?
]
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et Mumber Knowledos Workshast 26

f‘,_
Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created, %
2’ 5’ 14 14 ’L” 14 20’ 14 14 14 14 35
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 7's, write l 28 Example: 2343 2340, 2343 2300, 2343 2000,
the number y Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
<}-€ before | 73 2 7971 o
and - -
after ... E:%> d, 86 54792 =
E Add or subtract these numbers.
L 37 + U86 = 9. If you have 3559 and .
—— | are given 3274, ho -t 8 x 2
2 258 + 669 = much money d oL
- 3
5 + g = §uys5 |  nowhaved 6 ¢ 9
« 157 + =954 4%= 5&\
5 932 - 395 = lo. If %e 737 4 x 6
T4 Ld dsued, @ W
6 8l6 - Su8 = uch mon A Y N x 3 . 5 x = 4o
7. - = you have lef,
- l68 n 6 % Y |2 X 8 = 32
5 8532 - = 13 If &b; 0 books at 35 each, how
) muchWwould it cost? L
Add yp umbers in eac ( P ) 9
X = s
1530 87 3l 12.
2 4o q.? Moy + 2 = 5. d + 3 =
oo 5 |6 . 16 + 4 = 7 50 + 5 =
8 4l + 6 = 9. 21 + 7 =
MultiolyiNg and divids bers. 20.56 + & = a 8l + g =
I 184 2. 268 3 517 y 63l | 2 + 3 = 2 |» 35+ = 7
x3 xy x6 x7
o by + = g |2 + 8 = |
26.Colour in 5/7 of
this shape.
5. 6. 7. 8.
27. What fraction of these
31062 d 1032 61176 711288 shapes is shaded?
9. If 7 cars all the same price cost 313400, g | 25 1f 3630 is shared by 7 people, how
how much would one car cost? S much money does each person get?
\ - - o
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et Mumber Knowldze Workshes

Term: Week: Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created.

i

==\

3’ q' 14 14 14 33’ 14 14 5" 14 14 6q
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in 8's, write ! 32 Example: 2332 2340, 2343 = 2300, 23u3 = 2000,
the number Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
that comes 2 g L 3621 S 7 3037 o
QE% :efore N 8l 2 8U56 _ ’ 5 UO
an -
after . E:% u 96 3 1M = Z D = ‘7&
E Add or subtract these numbers. Itiply an dﬂi»numbers
. 537 + 395 = 9. If you have 3637 and |
7  — are given $u85, h C'— L2 X 2 3 x
2. 268 + 5u8 = much money +
now ha\@? = v 10
3 + 168 = 963 : - -
.« 163 + = 532 %;: \X 6 = 3 =
5. 561 - 293 = io. @ve}édé 8 x 9 = Qf;xq-_-
o end 3377, @ e
7 - = o you haye lefTs
- u59 1, = 63 |~ X 9 = 36
8 &34 - - ; 13. ffxou Bly 7 books at 390 each, how
7 ?
Add L@u ersine U would it cost; .' L |
X =
| 7 0| 20 l y
600 | U5 o + 2 = 5 6 + 3 =
6 6. 40 + 4 = 7 o + 5 =
8 d + 6 = 9. Y2 = 7 =
Multipiging and divi mbers 2. § + 8§ = 2. 27 + 9 =
I 509 2. y& 3 739 ¢« U8 | 22 + 4y =7 |22 =+ = lo
x3 xy x6 x7
o Y5 + = 5 o =7 =5
26.Colour in %/, of
this shape.
5. 6. 7. 8. QQQQ
27. What fraction of these OO
3/1278 w1312 6 lory 7351 shopes b shaded IS
9. If one car costs 315800, how much would 28.If 35U0 is shared b
. ) - y 9 people, how
it cost to buy 9 cars at the same price? . Havpﬁ much money does each person get?
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et Mumber Knowledos Workshast 28

T

Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created, %
3’ I3’ 14 33’ 14 14 14 14 83’ 14 14 ’I3
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 9's, write ! 36 Example: 23u3= 230, 23u3= 2300, 233 = 2000,
the number é Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes 3 L UsY3 o
<}-€ before 5 87 2 1345 o
and - -
after ... E:%> u g5 5 8329 =
E Add or subtract these numbers.
L. 268 + 293 = 9. If you have 3759 and .
—— | are given 3287, ho -7 x 2
2 8587 + 396 = much money d o4
- 3
s +uy59 = g1 |~ nowhaved 6 ¢ Q
. 158 + = 83 4%= 3&\
5 653 - 389 = lo. If %e 715 g x |
T e ad d3us7, @ W
é. q36 = L’qu = uch mon i : & q X 3 , 5 X = 20
7. - = you have lef,
- 573 n 6 % u |2 x 8§ = é6d
s 95l - = 1, If&b; 0 books at $5 each, how
) muchWwould it cost? L
Add yp umbers in eac ( P ) 9
X = s
Ll 6 | 2°| 500 12. é6do| 7
630 | 60 3 200 v 20 + 2 = 5 |12 + 3 =
32 62 | U 6. I8 + Y = 7 10 + &5 =
8 Y8 + 6 = 9. 35 + 7 =
MultiolyiNg and divids bers. 0.0+ 8 = 2 Y5+ g =
! 709 2. 240 . 635 v 286 | 22 + 5 =10 |» 3 =+ = |
x3 xy x6 x7
o |6 F = 2 |2 + 6 = 2
26.Colour in ’/5 of
this shape.
i ° ' ’ 27. What fraction of these O@%@@@@%
3149l d|102u 6122 711379 shapes is shaded? %%%@@@O
9. If 6 cars all the same price cost 3100200, g». | 25 If 36U0 is shared by 8 peaple, how
how much would one car cost? S much money does each person get?
\ - - o
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s Nmber Knomhdse orkshest 29

Term: Week: Signed when completed

(teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created,

b

==\

5’ ’3' 14 Jq’ 14 14 53' 14 14 14 14 73
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in 5's, write | 4o Example: 23u3= 2340, 2343 = 2300, 2343 = 2000,
the number 55 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
That comes L U738 o . U367 7 268 =
QE% before 5 73 2 9192 . 5 16
and - ’
after.. B> 96 5 265 = £ q&
E Add or subtract these numbers. Itioly and divide numbers
L 264 + 389 = 9. If you have 3784 and
——| aregiven 3368, h - L 10 x 2 3 x
2 U87 + ud9 = much money =
now ha\@? oY uo2
3 + 573 = 862 - E—
< 193 + = 95 %’S = \"6=_¢ g
5 86l - 287 = . f%ave.t%d X 3 = & 5 x 9 =
—Q end 3695,9 e
6. q’l-l - 5’7 = muchmo g, X 6 .  x = 24
, - = o you haye lefTs
o Iug9 I, %_ 21 |2 x 9 =72
8 683 - - ; 13. fRxou Buy 6 books at 390 each, how
Add | numbers in e muGh would it cost? ! L |
x =
n| 53 0
2 8§ + 2 = 5 30 + 3 =
(' l6. 32 + Y = 7 35 + 5 =
8. 12 + 6 = 9. 7 + 7 =
[ ~utiohing and i 040+ 8 = a5+ g =
I 793 2, q90 3. ui8 d, 590 | 22 + 2 =4 |23 4 =+ = |
x3 xy x6 x7
MYl + = 6 25 + 9 = J
26.Colour in %/, of
this shape.
5, 6. 7. 8. @QQQQO
27. What fraction of these
3/ Iu67 U 118y 6 Iugu 71393 : 5 1111
;) T) si5500 1 ) , . shapes is shaded: 00000
9. If one car costs ,» how much wou 28.If 3810 is shared by 9 people, how
it cost to buy 6 cars at the same price? . Havpﬁ much money does each person get?
Ly e
. .- i
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Term: Week:

et Mumber Knowledos Workshast 30

Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created,

&

3' ’21 14 14 37’ 14 14 14 14 8"” 14 IOJ
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in7's, write 35 Fxample: 23u3= 2340, 23u3 = 2300, 2343 = 2000,
the number p Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2

that comes . 63 L U357 o . U658 >

<}-€ .. before | sy 2 2823 %

and - - -
after ... E:%> y g5 3 3755 =

E Add or subtract these numbers.

L 56U + 287 = 9. If you have 3773and _,_ .
——| are given 3279, ho - L 2 x 2
2 395 + 519 = much money d hat
;s + 9 = 628 now have® 6 : § Q
u 296 + = 4Q;= &\
5. 43l - 158 = 0. If @e 561 x 5
a
6. 623 - dé67 = X 3 . 5 x = 15
7'__58'?= 6 % 6 |2 x 8 = |
8 722 - = 1. If &b; 0 books at 38 each, how
. muchWwould it cost? L
Add yp umbers in eac 9
X = -
Ll 6 |260| 30
800 y Mol6 v 2 = 5. 2 + 3 =
7 6. & + 4 = 7 30 + 5 =
8 60 + 6 = 9. 63 =+ 7] =
Multiolymg and dividi bers. 0. 48 + 8 = a g+ g =
L 420 2 715 3 352 Y 709 | 22 + 3 = d |2 50+ = 0
x3 xy x6 x7
a4l + = 7 | -+ 8§ = 3
26.Colour in /g of
this shape.
) ’ 7 ’ hat fraction of th S ¢
27. What fraction of These AZ N7 N
3/ Iuéu ul2éd 6143y 71323 ; S 7N 4
shapes is shaded? &) ¢
9. If 8 cars all the same price cost 3127200, Zaggp. | 25 If $560 is shared by 7 peaple, how
how much would one car cost? . 0| muchmoney does each person get?
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created. ‘%
2’ —_— ’7’ 22’ 14 14 14 IJJ’ 14 14 57
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
ind's, write ! 2| Example: 23u3= 2340, 2343 = 2300, 233 = 2000,
the number 6 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes 3 L U383 o . 276l &
QE% ... before 5 65 2 1779 = . - 5 7y
and . Q
after ... %&> y g8 3. 6886 = 7 5 o q&
E Add or subtract these numbers. Itiply an dﬂ»numbers
L 347 + 486 = 9. If you have 3468 and
——| aregiven 3357, h ~— . & x 2 3 x 3
2 258 + 669 = much money g
now ha\@? “ 6 S

5 653 - 389 = lo. ve 3713
6 936 - Udg = much mo

3 + 168 = 963 ' '
v 163 + 532 %;: \" 6 =_ Q =
[ 5 .‘\I‘

8§ x 6 = .| x 9 =
end $u87, @ e
9 x 6 o, 4 x = 12
, - o you haye lefTs
’ - g Il = 35 | x 9 = I8
8 683 - 2 ; 13. ffkou Dy U books at 325 each, how
Add humbers in e u&h would it cost? ! L |
X =
| 350| 93
57 u + 2 = B4+ 3 =
7 36 6. 4 + 4 = 7 15 = 5 =
8 Yl + 6 = 9. 21 =+ 7 =
Mulﬁp ing and divi , 0 U0 + & = 236 + 9 =
I 157 2 ul 3 709 “ 635 | 22 + 4y =y |2 N =+ = 7
x6 x7 x8 x9
o 5y + = 6 |2 = 7 =4
26.Colour in*/; of
this shape.
5. 6. 7. 8. Q@G@O
27. What frac tion of these
62328 71659  8|IuEE 91521 | G0 hadeds QSQ:Q:Q:O:
9. If one car costs 321500, how much would 28.If 33200 is shared b
. , : y U people, how
it cost to buy 7 cars at the same price? , Hm'h much money does each person get?
8 »
| =
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e Muiber Knowledes Workshast

fég_
Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created, %
IJ’ —_— 2"” 3"" 14 14 14 14 8"” 14 14 ”IJ
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 5's, write ! us Example: 23u3= 2340, 2343 = 2300, 23u3 = 2000,
the number 70 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes L 7627 < u 6749 =
<}-€ before | 8l 2 3152 o
and - -
after ... E:%> d q7 395 =
E Add or subtract these numbers.
. 537 + 395 = 9. If you have 3695 and__
—— | are given 3238, ho - LU x 2
2 268 + 5uU8 = much money d st
5 + g = §uys5 |  nowhaved 6 Ry Q
« 157 + =954 4%= 5&\
5 56l - 293 = /o.If% M3 8 x u
T a4 ad d3258, @ ulb
6 983 - 396 = uch mon A > N X 3 . 5 x = 30
. - = you have lef,
o 573 L6 %6 12 x 8 =72
s 95l - = i If &b; 5 books at 35 each, how
) muchWwould it cost? L
Add yp umbers in eac ( P ) 9
X = s
& | U557 470 12.
780 82 370 moy = 2 = 5 6 = 3 =
67 é6u 6. Yo + 4 = 7 4o + 5 =
8 d + 6 = 9. Yy = 7 =
Multiolymg and dividi bers. 20 8 + 8 = a g+ g =
L 826 2 590 3 36l “ o2 | 22 + 5 =y |27+ = g
X6 x7 x8 x9
u Y8 + = 6 25, + 6 =10
26. Colour in %/, of
this shape.
5. 6. 7. 8. @ @ @ @ O
27. What fraction of these 60660
61293u 71897 81728 91305 shapes is shaded? Q<>®®®®®@®®
9. If § cars all the same price cost 389500, . | 25.If 34200 is shared by 6 people, how
how much would one car cost? S much money does each person get?
\ - - o
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created. ‘%
2’ 14 14 14 14 ’7’ 20’ 14 26’ 14 14 35
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in7s, write | U2 Example: 23u3= 2340, 2343 = 2300, 233 = 2000,
the number 77 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
that comes L 9514 o . 2738 o
QE% .. before | 8y 2 3307 . 5 7
and - q
after ... %&> u 99 i 4852 = « Y280 -~ 9&
E Add or subtract these numbers. Itiply an dﬂ»numbers
L 268 + 293 = 9. If you have 3396 and
——| are given 3528, ~— | L 7 X 2 3 x
2 587 + 396 = much money =1
now ha\@? “ & S

3 + 573 = 862 ' '
< 193 + g5 % >;= \" 6 =n¢ 6 =___
- i .‘\.-

5 932 - 395 = lo. ve J62u 8 x | = 3 x 9 =
end 3169, @ e
, - = o you haye lefTs
n us59 I, %_ 56 |2 x 9 = 63
5 83 4* 5. fRkou Dy 6 books at 325 each, how
Add L@u orshe u@h would it cost? A
X =
I | 560 éu 1290 7
95 380 20 + 2 = 5 |12 + 3 =
8 6. 8 + U = 7 0 =+ 5 =
8 Y8 + 6 = 9. 35 + 7 =
Mulh’p ing and divi . 0+ 8 = Y5 = g =
I 284 2. 39 3. 628 g ugl | 22 - 2 =2 |# 12 =+ = 3
x6 x7 x8 x9
a2+ = 3 |2 + 9 =y
26. Colour in /5 of
this shape.
5, 6. 7. 8. 0 8880
27. What fraction of these 0000
62268 7)2303 81960 91548 | G haded? QgQOQOGOOQ
9. If one car costs 319700, how much would it 26 If 33600 is shared b
j . y 3 people, how
costtobuy 8 cars at the same price? <. -k money does each person get?
8 »
| ; =
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Term: Week:

Signed when completed (teacher or parent):

et Muiber Knowledos Workshast 34

Write in the missing numbers for this number sequence, then describe how it was created,

&

E Add or subtract these numbers.

9. If 7 cars all the same price cost 3143500,
how much would one car cost?

L 264 + 389 = 9. If you have 367d and .
——| are given 3189, ho :
2 487 + udg = | muchmoney d VQ;
N + U59 = 82l now have@® 6
M.E+ = 834 4Q;=
5 86l - 287 = o If %e 756
- 59 . A d 3288, ;.
7 - 168 =
8.5—3.‘2- =
Add up umbers in eac
| 65 | 68 7
240
8 g | d
MultiolyiNg and divids %bers.
L 536 2 613 i 950 u 379
x6 x7 x8 x9
5, 6. 7. 8.
628l 72051  &|I7uu  9]1665

L’I 9 ——— ¢ 22' —_— ! IJO’ IJ6I ? 14 ? 70
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 8's, write l Jo Example: 23u3= 2340, 2343 ™ 2300, 2343 = 2000,
the number o Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2

that comes - | 3289 % < 3262 ©

<}-€ .. before | 77 2 9313

and E— A
after ... E:%> Y 95 3 5u37 =

9. x 3 . 5 x = 5

L6 % 60 |12 x 8 = 56

13, If &b; 5 books at 39 each, how
chdwould it cost? L

&

X =

v & + 2 = s 30 + 3 =
6. 32 + 4 = |1 35 + 5 =
8. 12 + 6 = 9. 7 + 7 =
20 .8 + & = | Sy + 9 =
2.+ 3 = 8 | I5 + =3
N 6+ = | .?5.—.—' 8 =
26.Colour in */yp of

this shape.
27. What frac tion of these Omggggg

shapes is shaded? 86068000

| 25.If 35000 is shared by 5 people, how

much money does each person get?
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s umber Knowledse Workshest

Term: Week: Signed when completed (teacher or parent):
Write in the missing numbers for this number sequence, then describe how it was created, ‘%
2’ 14 ’0’ 14 14 14 14 30' 3"” —_— L’6
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in 9's, write I u5 Example: 23u3 2340, 2343 = 2300, 2343 2000,
the number Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
that comes 2 72 L 7621 ;5689 o
QE% before | 86 2 356 o 5 72
and -
after .. %&> ¢ 99 3 = 9&
E Add or subtract these numbers. Itioly and divide numbers
L 273 + 158 = 9. If you have 3385 and
——| are given 3ud9, h L4 x 2 3 x|
2. 156 + Ué67 = much money = ,
- , u,
L+ Mg = 628 MOWhae? — —
.« 296 + = 683 4;: \"6=_¢ =
5. 640 - 362 = lo. ve 3826 = S x 9 = & 10 x 9 =
. @O N
6. 735 - 286 = much mo 9 X 6 o, 4 x = 4o
7. - U8 = o you haye lefTs
- 8 I, = uy2 | x 9 = 8l
8 95y - 4* 13, ou Duy 7 books at 335 each, how
? ?
Add &u orsine u@h would it cost; ! .
x =
nl & 0| 84 1290 9
270 | 59 l6 + 2 = |52+ 3 =
83 6. d + d = 7 30 + 5 =
8 60 + 6 = 9. 63 + 7] =
Multioling and divi , 20 U8 + & = 227+ 9 =
I 63 2. 35 . Q0d Y 157 | 22 + 4y = 9 | 6 =+ = 3
x6 x7 x8 x9
o 5y + = 6 |2 =7 =2
26.Colour in °/5 of
. S this shape.
: é 7 ' AN 78N 70N
27. What frac tion of these TiH AV
612568 711988 811536 9 1us8 ; AT T
) ) ) shapes is shaded? Sy & &
% If one car costs $18U00, how much would it 26. If 35400 is shared by 6 people, how
cost to buy 6 cars at the same price? , Hm'h much money does each person get?
b2 »
| =
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Term: Week:

s Mumbar Know

Bz Workshest 36

Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created,

&

L’I 14 14 14 L’OI 14 14 14 76’ 85’ —_— ’03
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 3's, write | 2 Example: 23u3= 2340, 23u3= 2300, 2343 = 2000,
the number Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
thatcomes 2 39 . 5621 & . 6137 o
<}-€ before 5 5y 2 U805 o
and - - -
after.. o> 4 70 > 6379 =
E Add or subtract these numbers.
L 278 + 362 = 9. If you have 3369 and .
——| are given $ué7, ho -1 5 x 2
2 ydg + 286 = much money d s
, + IU§ = 5g7  nowhaved 6 R 9
u 183 + = 762 4%= 5&\
5 651 - 179 = to. If %e q7 x 8
T2 ad d 3798, i o
6 812 - 51 = D :  x 3 5 x = 35
7._-58.?: L6 % 8 | x 8 = 80
8 722 - = 5. If &b; 5 books at 38 each, how
) muchWwould it cost? L
Add yp umbers in eac 9
X = s
| 9 | 680 53
380 68 | 9 6qg M2+ 2= |59+ 3 =
65 8 6. 36 + 4 = 720 + 5 =
18 30 + 6 = 9 70 = 7 =
MultiolyiNg and divids bers. 0 16 + & = 272+ 9 =
! 184 2 268 3 517 y 63l | 22 + 5 =9 |25 9 = 3
X6 x7 x8 x9
M 32 + =y 25 -+ 6 = 8§
26. Colour in ¢/, of
s , this shape.
X 6, 7. 2
27. What fraction of these 0689680
62124 71806 81568 91656 | shonesisshaded? Hoe008s
9. If 6 cars all the same price cost 3136800, Zugpp | 25 If 36300 is shared by 7 peaple, how
how much would one car cost? e 8|  much money does each person get?
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st Mumbar Knonledzs Workshaet

Term: Week: Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created,

b

==\

IJ’ 14 14 25’ 14 14 Llél 53’ 14 14 14 8’
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
in 6's, write ! 30 Example: 23u3= 2340, 2343 = 2300, 233 = 2000,
the number Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
that comes 2 66 L 2163 o . 7828 ©
<o~ :e“’e 3 87 2 5629 = o 5 13
an -
after ... E:é> u g5 3 3ud7 = ; = q&
E Add or subtract these numbers. Itiply an dﬂi»numbers
Lou72 + 179 = 9. If you have 3687 and
——| aregiven 3299, h — |- X 2 3 x
2 238 + 574 = much money =
- . ¢« o
s 4 =770 NOWhaeZ — —
< ug9 + = 958 %;: \" 6 =__ =
5. 846 - 349 = 10, ve 3857 8 x 7 = Q8x9=
— end 3469, e
6. 94l - 683 = much mo q X 6 o, u x = 16
. - = o you haye lefT$
’ - 174 I, = 7 12, x 9 = 27
8 958 - 4* 13, ou Buy U books at 375 each, how
Add @u orshe u@h would it cost? ! N
X =
| 270 g l 8
7 | 96 2 + 2 = |5 3+ 3 = |
83 Uy + 4 = 7 Y5 + 5 = |
I8 + 6 = |mug+ 7 =
Mulh’p ing and divi . 32 + 8 = 2.90 + 9 = |
I 509 2. Y8, 3 739 ¢ 8 | 2 + 2 =5 |1 4o =+ = 5
X6 x7 x8 x9
n 63 + = 9 25 + 9 =9
26.Colour in °/, of
. S this shape.
X 6. 7. :
27. What fraction of these %%%%%%
62556 712296 8132 91737 |7 G0 hadeds DA
9. If one car costs 323200, how much would 28.If 35400 is shared b
. . - y 9 people, how
it cost to buy 9 cars at the same price? . Havpﬁ much money does each person get?
- 2
. . - io
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Term: Week:

s Mumbar Know

ko Workshest 38

Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created,

&

E Add or subtract these numbers.

9. If 8 cars all the same price cost 3179200,
how much would one car cost?

L 56U + 287 = 9. If you have 3378 and .
——| are given 3567, ho =
2 395 + 519 = | muchmoney d Q;
N + 582 = 96l now have® 6
. M6+ = x > =
5. 833 -T:é: lo. If @e 518
6 997 - 669 = a d 3259,
7 - 635 =
5 goy - o
Add up um
| 87
280
6 8 %
Toral
MultiolyiNg and divids %bers.
! 709 2 240 3 635 u 286
x6 x7 x8 x9
5. 6. 7. 8.
62982 7)1792  8|1896 91773

L’I 14 14 ’q’ 14 14 3”” 14 14 14 5“’ 5q
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 8's, write ! us Example: 23u3c> 2340, 2343 = 2300, 2343 = 2000,
the number 72 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2
that comes L3742 o « 863 S
.. befor -
<}’€ erore 89 2 2354 =
and E— B .
after ... E:%> Y g5 3 Y565 =

books at 37 each, how
ould it cost?

n 6 %
13 If &; 5
c‘/‘nUC

X =
nol8 + 2 = 5 15 + 3 =
6. 12 + 4 = 7 5 + 5 =
8 36 + 6 = 9. 56 + 7 =
2 72 + 8 = 2 63 + 9 =
22 + 3 =J0 |3 5 + = |
u 18 = = 3 |= + 8 =10
26.Colour in ’/5 of
this shape.
27. What fraction of these O@@Q%@@O@
shapes is shaded? @O%@@O@@O

| 25.If 36400 is shared by & people, how

much money does each person get?
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s Nomber Knowhdse Norkshest 39

Term: Week: Signed when completed (teacher or parent):

Write in the missing numbers for this number sequence, then describe how it was created.

i

==\

IJ’ 14 14 28’ 14 14 14 60' 68’ —_— qg
Skip counting [ Round these numbers to the nearest 10, 100 or 1000.
ings, write ! Sy Example: 2332 2340, 2343 = 2300, 23u3 = 2000,
the number Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
that comes 2 8l T Y6 g
ﬁan :efore 3 73 2 9327 = q 8 23
after ... %&> u 96 i 3uUb2 = « Jq9s = 9&
E Add or subtract these numbers. Itiply an dﬂi»numbers
L 497 + 349 = 9. If you have 3u89 and |
7 7 —_— are given 3386, h L L 10 x 2 3 x -
2 258 + 683 = much money = |
- ] Y
i 4635 =830 "OWhae? o — —
« 576 + = 9y %;: \X 6 = Q =
5 u3l - 158 = lo. ve 3807 (& 8 x lo = . 7 x 9 =
— end $369,@ | e
6. 623 - Ué67 = much mo g X 6 o, u x = 36
. - = o you haye lefTs
’ - 355 ) =70 | x 9 = 9
8 962 -4* 13. fRxou Buy 8 books at 375 each, how
Add L@u ersin e u&h would it cost? ! L |
X =
| 66 580 12487
690 | 84 6 + 2 = 5 18 + 3 =
7 |5 .20 + U = 7. 25 + 5 =
- S5y = 6 = 9 4 += 7 =
Mulﬁp ing and divi . 56 + 8 = a gl + g =
I 793 2, 90 3. ul8 d 590 | 22 4y = 8 | I8 =+ = g
x6 x7 x8 x9
o Y5 + = 5 |2 = 7 =7
26.Colour in '/, of
. S this shape.
X é. 7. :
27. What frac tion of these LLEEL
62930 72072 81992 91791 |7 G2 0 shaded? L
9. If one car costs 324600, how much would 28.If 38100 is shared b
. . : v 9 people, how
it cost to buy 5 cars at the same price? . Havpﬁ much money does each person get?
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Term: Week:

Signed when completed (teacher or parent):

et Mumber Knowledos Workshast 40

Write in the missing numbers for this number sequence, then describe how it was created,

&

14 14 23’ 32’ 14 14 59’ 14 14 86’ 14 IOL’
Skip counting @8 Round these numbers to the nearest 10, 100 or 1000.
in 6's, write ! U2 Example: 23u3= 2340, 23u3= 2300, 2343 = 2000,
the number 66 Round to nearest 10 | Round to nearest 100 |Round to nearest 1000
2.
Thatcomes 2 66 || ge3 o . 7327 > 71827
<}-€ before 85 2 7467 > 5 325%7
and - B—
after ... E:%> " 98 3 dg7l = 9 %
E Add or subtract these numbers. ply and divide th mbers
L 384 + 269 = 9. If you have 3798 and .
7 — are given 3295, ho - L 3 x 2 3 x 6
2278 + U8 = much money d hat
now hav I ) = -5
3 + 355 = 7ul aved
e - 982 % AT,
5 653 - 269 = /QIf%Qé?O 8’x 3 = U x 9 =
T a4l ad d 339y,
6 726 - U = uch mon ] x 3 . 5 x = u5
. - = you have, lef
o - 8 L6 % 2 |2 x 8§ = uWo
8 762 - = 13, If &b; 65 books at 39 each, how
) muchWwould it cost? L
Add yp umbers in eac / 9
X = -
| o | 8707 97 12. 78
u3o| 87 q 580 woj0 + 2 = 5. 27 + 3 =
69 77 | 8 6. 4 + Y = 7. 50 + &5 =
8 6 + 6 = 9. @8 = 7 =
MultiolyiNg and divids bers. 20 64 + 8 = a 18+ g =
I u20 2 715 s 352 y 709 | 2. + 5 = 6 |u |5 =+ = 5
x6 x7 x8 x9
o 56 + = 7 o + 6 =y
26.Colour in ’/4 of
) ; this shape.
X 6, 7. 2
27. What frac tion of these %X%X%
612928 72212 81912 g 1701 shapes is shaded? & ava
9. If 9 cars all the same price cost 3251100, . 25, If $5600 is shared by 7 people, how
how much would one car cost? o much money does each person get?
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